normalization of time

+oo
X(a)S(w — a)da

— 00

—

X,(jw) = X ()« S(je) = 5

convol in freq and in time.
+oo
x(T)h(t — 7)dT

y(t) = a(t) % h(t) = /

four series 9 9
L = T sinc <2k§25>
19 v 1 1
BT oY . v _ _
cr = 1%11}% T sinc <2 st> T sinc(0) T
400 +00 2
S(jw) = > 2merd(w —kQ) = Y 0w = k)
k=—oc0 k=—0o °
convolutions again
2
X, (jw) = X (w) % = §(w) = F, X (w)
27
Xs(jw) = X(w) * ?5(00 — Q) =Fs X (w—Qs)
2
Xo(jw) = X (@) * = [3(w) + 8w — Q)] = F[X (@) + X (@ - Q)
S
o + 400
Xo(jw) = X (@) * 7 Y Sw—kQ)=F, > X(w-—kQ,)
S k=—c0 k=—o00
reco in frquency
oy T, for —Q/2<w<Q,/2
Hr(jw) = { 0 elsewhere
reco time T
h,(t) = =2 Qgsinc <St) = sinc (st>
27 2
. or 2T,
—t, =m, therefore t, = Q—t = 72T7r =1T.
2(0)4(t) — x(0)sinc (St> )
x(nTs)d(t — nTy) — x(nTy)sinc ((t nTS)) )
x(t) = :Z_ z(nTy)sinc <25(t - nTS)) .
FR pomoci DFT
ck = 1 x(t)e Ikertqr,
Tl Tl
N-1 N-1
T, e, 1 Cenzm
T e ikFn — gkn
NT. nz:% x(nTs)e 75N N 2 x[nle N
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